



JMA

Radicales

Elaboró: Jacquelyn Martínez Alavez

1

Simplificar la siguiente expresión:

$$\begin{aligned} \sqrt{7(a^4)^2(b^2)^2} &= \sqrt{7(a^4b^2)^2} \\ &= \sqrt{7} \sqrt{(a^4b^2)^2} \\ &= \sqrt{7} a^4 b^2 \end{aligned}$$

2

Simplificar la siguiente expresión:

$$\begin{aligned}\sqrt{11a^0y^8} &= \sqrt{11}\sqrt{y^8} \\ &= \sqrt{11}\sqrt{(y^4)^2} \\ &= \sqrt{11}y^4\end{aligned}$$

3

Simplificar la siguiente expresión:

$$\begin{aligned}\sqrt[3]{5a^3b^6} &= \sqrt[3]{5} \sqrt[3]{(ab^2)^3} \\ &= \sqrt[3]{5ab^2}\end{aligned}$$



Elaboró: Jacquelyn Martínez Alavez



JMA

Radicales

Elaboró: Jacquelyn Martínez Alavez

1

Simplificar la siguiente expresión:

$$\begin{aligned}\sqrt[3]{6x^6y^9} &= \sqrt[3]{6} \sqrt[3]{x^6y^9} \\ &= \sqrt[3]{6} \sqrt[3]{(x^2y^3)^3} \\ &= \sqrt[3]{6x^2y^3}\end{aligned}$$

2

Simplificar la siguiente expresión:

$$\sqrt[3]{54a^3b^5} = \sqrt[3]{(27 \cdot 2)a^3b^3b^2}$$

Note: A blue bracket above the exponent 5 in the original image indicates that 3+2=5.

$$= \sqrt[3]{3^3 \cdot 2a^3b^3b^2} = \sqrt[3]{(3 \cdot a \cdot b)^3 \cdot 2b^2}$$

Note: Pink diagonal lines in the original image cross out the cube root symbol and the exponent 3 in the second term.

$$= 3ab\sqrt[3]{2b^2}$$

3

Simplificar la siguiente expresión:

Multiplicar índices

$$\sqrt[3]{\sqrt[2]{6a^5}} = \sqrt[6]{6a^5}$$



Elaboró: Jacquelyn Martínez Alavez



JMA

Radicales

Elaboró: Jacquelyn Martínez Alavez

1

Simplificar la siguiente expresión:

$$\begin{aligned}\sqrt{s^{-m+4}} \sqrt{s^{4(m-1)}} \sqrt{s^{-m+2}} &= \sqrt{s^{-m+4+4m-4-m+2}} \\ &= \sqrt{s^{2m+2}} \\ &= (s^{2m+2})^{\frac{1}{2}} \\ &= s^{m+1}\end{aligned}$$

2

Simplificar la siguiente expresión:

$$2 \left(m^{\frac{1}{x}} \right) \left(\sqrt[x]{m^{-1}n} \right) \left(n^{\frac{2x-1}{x}} \right) = 2 \sqrt[x]{mm^{-1}nn^{2x-1}}$$

Mismo índice

$$= 2 \sqrt[x]{n^{2x}}$$

$$= 2n^{\frac{2x}{x}} = 2n^2$$

3

Simplificar la siguiente expresión:

$$\begin{aligned} \sqrt[n]{\frac{6(4^n)}{4^{2n+1} + 2^{4n+1}}} &= \sqrt[n]{\frac{6(4^n)}{2^{2(2n+1)} + 2^{4n+1}}} = \sqrt[n]{\frac{6(4^n)}{2^{4n+2} + 2^{4n+1}}} \\ &= \sqrt[n]{\frac{6(4^n)}{2^{4n}2^2 + 2^{4n}2}} = \sqrt[n]{\frac{6(4^n)}{2^{4n}(2^2 + 2)}} = \sqrt[n]{\frac{6(4^n)}{(2^{4n})(6)}} \\ &= \sqrt[n]{\frac{(4^n)}{(2^{4n})}} = \sqrt[n]{\frac{(2^{2n})}{(2^{4n})}} = \sqrt[n]{2^{-2n}} = (2^{-2n})^{\frac{1}{n}} = (2^{-2}) = \frac{1}{2^2} = \frac{1}{4} \end{aligned}$$



Elaboró: Jacquelyn Martínez Alavez



JMA

Radicales

Elaboró: Jacquelyn Martínez Alavez

1

Racionalizar el denominador:

$$\frac{2}{\sqrt{3}} = \frac{2}{\sqrt{3}} \cdot \frac{\sqrt{3}}{\sqrt{3}} = \frac{2\sqrt{3}}{\sqrt{3}\sqrt{3}}$$

Racionalizando

$$= \frac{2\sqrt{3}}{\sqrt{3 \cdot 3}} = \frac{2\sqrt{3}}{\cancel{\sqrt{3^2}}} = \frac{2\sqrt{3}}{3}$$

2

Racionalizar el denominador:

$$\frac{1}{\sqrt[3]{a}} = \frac{1}{\sqrt[3]{a}} \left(\frac{\sqrt[3]{a^2}}{\sqrt[3]{a^2}} \right) = \frac{\sqrt[3]{a^2}}{\sqrt[3]{a^3}} = \frac{\sqrt[3]{a^2}}{a}$$

Racionalizando

3

Racionalizar el denominador:

$$\begin{aligned}\sqrt{\frac{5}{40}} &= \sqrt{\frac{1}{8}} = \frac{1}{\sqrt{(2)^2 \cdot 2}} = \frac{1}{2\sqrt{2}} \\ &= \frac{1}{2\sqrt{2}} \left(\frac{\sqrt{2}}{\sqrt{2}} \right) = \left(\frac{\sqrt{2}}{2(\sqrt{2})^2} \right) = \left(\frac{\sqrt{2}}{2(2)} \right) = \frac{\sqrt{2}}{4}\end{aligned}$$



Elaboró: Jacquelyn Martínez Alavez